WFZEACHS: 002399 WEFRTRIFR IR g NS 2011-030

A HEERAW RN AR
KTEITAIME RS

EAF RESEFRRARKERBHENANESE. #. <8, KHE/ED
B RFHFRRE RN

KRS

1 RIS 5 2B A R =) (LURRIRR AR ) S5 RIS ol X 4
Zegx (LUNIFR “OBrIX B 2" ) T20114E6 H28HAE T (CATEMM) (LR
CORMECAIIEL” D, A EITERIEGIN T EE Lo X v AR A s 2R i R b

2« AEMUSCH R PEREZE Y, BARERHE U7 % SIS ) S A A A AN e
JE I ARSI L AT PRI SR S5 A2 U5 SR AT AH IV I o it A I3ORE e - d
S5 5 RS, BRI i I ISP JEE AT R () S e A AN

3. A A 1 - A A, 2% 1 M Aol R AT ERA 5 2 B A K 1
SERRFP RIS 5y T HS DRI ) St 0 R A7 A8 ANl o

4y ARSI BB BB L TC N R T 4 24 Rl 1A AU IR AERT (LT DX R 5
ML, SRR AR I H (R B A R T A P

—. W EE

7 GINTTRLR X 24

GRYNTTEE LT X A 2525 R BN BUR IR B ATUAS) s B SR TR T A= A A T
FAZY) 168 ~F-J5 22 BRI BE L7 X S A T B 2L

LT3+ RIS B 249 VB A7 A7 B2 )

R R FR, ARG AR ETTA R R = mA A EINE) M
A O DN A

=, B FEENE

(—) HAEHA

AR RIFEPULGE X B (T A8 PR BE RIBUR IR, R HE A mIAE =



Bk, Bt BHEMS ARSI BER IR L, F 205 TR
SE, B RKIIRUE NI SRR R

(=) GFEMEEAR

L7 R PR P XA N e B A s X, RRARAHESN e 2 w] A= B 2 ol
RS RN P S R B YIE 429 E DRI KAV WNEI T

F S5 AERF LGB IX 3BT 300 H T AR S, 345 Bl B iR gk e i e v a1 ) 5
o ) 7L o

(=) EAELE

25 TR AL A AR B ML, PR S B i D% F8 AL FOUS e J2= 9 3 2
AU N, AT R S A R 1 ) L

0. XA TE KN

AIREAEDIIREZ T, o> AR AERE LGB IX P ot W AR e 29 R SR, A 1Y)
TR wAIY A S P T (R 37y AN AL PR TR R, ek 28 ) ) m] i

fi. KRR

Lo AU R PEREZ B, HARIEBE T S8 SN 18] 35 A7 AE AN SE L
Ja B BAARP B TT 58 IAT PR AR o A5 AE U7 JEAT AH I PR o At e e 8O e I
LR Al SE R, DR Z SR JEA TR ) S A AR AN E

2+ 3 ) W ARIAF I H I AT A, 2 b AT A R H A 5 AT AH Y P R
SERE PP AN TS Ja Jr TG, DRI H ) SR A7 A2 A e P

3 AT R BT D5 LI N RS A 2 FIHID UL € BIAERFLLDET X A 85T
VAL BETORE I WIS, S PR BB AR I H R A DL 2 A P i A

4y A SRR OGEA DU FAR St AR O, SN JEAT AR S S
%5

SN EDBEIRRE) RS CGUEZENARD « CPEUERERD © CRERIEZER)
FEW B2 (http://www. cninfo. com. en) A AR Mk & IR IR EE AR, A =] BT
A BB LA FAHE B E BRI IR A 0. ) KRB0 B v, I
BT Ao

N BB



1. (HEUO

Sl /AT

RN T ¥ i 245 b e 3 A7 B 2 ]
R
—O——4ENH=1H



